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TAI LIEU ON TAP KY THI SASMO 2023

Section A (Correct answer — 2 points| No answer —  points| Incorrect answer — minus 1 point)

Phén A (Trd loi ditng — 2 diém | Khéng trd 1oi — 0 diém | Trd 16i sai — TRU 1 diém)
Question 1
Calculate the following.
Tinh gid tri biéu thitc sau.
(37 +54x81) + (82 %54 —-17)

A. 0

B. 1

C.2

D. 1.5

E. None of the above (Pap an khac)

Question 2

What is the missing number in the sequence below?

S6 con thiéu trong ddy sé bén dudi la s6 nao?
1,4,8,__,19,26,..

A. 13
B. 12
C. 16
D. 14
E. None of the above (Pap an khac)
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Question 3

In the diagram, a small square lies inside a large square. The shaded area is 48 cm?. If the

perimeter of the small square is 44 cm, find the perimeter (in cm) of the large square.

O hinh bén duwdi, mét hinh vuéng nhé nam bén trong mét hinh vudng Ién. Dién tich phan té ddm
la 48 cm?. Biét rang chu vi ciia hinh vudng nhé la 44 cm, tim chu vi (don vi cm) ciia hinh vudng

lon.

A. 12 cm
B. 13 cm
C. 48 cm
D. 52 cm

E. None of the above (Pap an khac)

Question 4

In an election for class president, 92 votes are cast by students who are voting to choose one of
five candidates. Each student must vote for only one candidate. The candidate with the highest

number of votes is the winner. What is the smallest number of votes the winner can receive?

Trong mot buoi bau chon cho chirc vu l0p truong cua lop hoc, co 92 phiéu bau dwoc thuc hién
boi cac hoc sinh dang bo phiéu dé chon mot trong nam vung cu vién. Moi hoc sinh chi duoc bo
phiéu cho mot g cir vién. Ung cir vién cé so phiéu cao nhat la nguoi chién thang. Hoi so phiéu

it nhat ma nguoi chién thang co thé nhdn dwoc la bao nhiéu?

A. 18
B. 19
C. 21
D. 22
E. None of the above (Pap an khac)
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Question 5

Mason built a pyramid using identical cubes. The pyramid is shown below from different angles.
Mason paints the whole pyramid in green colour. How many cubes have exactly 2 sides painted

in green?

Mason ghép cdc khoi ldp phwong nhé giong nhau dé tao thanh mét kim tw thdp. Hinh bén dudi
minh hoa kim tw thdp nay theo ba hudng nhin khdac nhau. Mason son mau xanh ld toan bo kim ty

thap. Hoi ¢6 bao nhiéu khéi ldp phwong nhé c6 ding 2 mdt dwege son mau xanh 14?

& <

A. 12
B. 16
C. 32
D. 36
E. None of the above (Pap an khac)

Question 6

In a bag, there are oranges and bananas. If we give away 140 bananas, the percentage of fruits in

the bag that are bananas will decrease from 60% to 40%. How many oranges are there in the bag?

Trong mét tili, ¢6 cam va chuéi. Néu ldy bot di 140 quad chudi thi phan tram sé qua chudi trong

tii sé giam tir 60% xuong con 40%. Hoi cé tat cd bao nhiéu qud cam trong tii?

A. 14

B. 168

C. 252

D. 420

E. None of the above (Pap an khac)
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Question 7

One hundred marbles can be distributed equally among a few students. If 8 more students are to
share the 100 marbles, each of all the student can still get an equal number of marbles. How many

marbles can each student get originally?

Mot tram vién bi co thé duoc chia déu cho mot so hoc sinh. Biét rang, néu thém 8 hoc sinh nita
thi 100 vién bi van co thé duoc chia déu cho tat ca cac ban. Hoi ban dau, moi hoc sinh co the

dwoc chia bao nhiéu vién bi?

A. 20
B. 25
C. 50
D. 100
E. None of the above (Pap an khac)

Question 8
How many two-digit numbers are divisible by 3 but not by 6?
C6 bao nhiéu sé6 ¢6 hai chir s6 chia hét cho 3 nhiung khéng chia hét cho 6?

A. 14
B. 15
C. 17
D. 30
E. None of the above (Pap an khac)
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Question 9

An ant is at one vertex of a cube and can only walk along the edges of the cube. It cannot walk
along any edge more than once. If the length of the cube is 9 cm, what is the greatest distance (in

cm) that the ant can walk before it cannot continue?

Mot con kién dang o mot dinh cua hinh lap phuong va chi co thé di doc theo cdc canh ciia hinh
lap phwong. N6 khéng thé di doc theo bdt ky canh ndo nhiéu hon mét lan. Biét rang d dai canh
ciia hinh ldp phwong la 9 cm, héi quang dwong 16m nhdt (don vi cm) ma con kién c6 thé di dwoc

trieGe khi né khéng thé di tiép la bao nhiéu?

A. 81 cm

B. 72 cm

C. 108 cm

D. 9cm

E. None of the above (Pap an khac)

Question 10

A certain month has 3 Wednesdays falling on even number dates. Which day is the 20th of this

month?

Mot thang ndao dé c6 3 ngay thir Tw déu la ngdy chan. Hoi ngdy 20 cua thang dé la thir may?

A. Sunday (Chu Nhdt)

B. Monday (Thvr Hai)

C. Wednesday (Thir Tw)

D. Saturday (Thir Bay)

E. None of the above (Pap an khac)
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Question 11
What is the sum of digits of the following product?
Téng cdc chir s6 cua tich dwdi day la bao nhiéu?

1008 x  111..111

~—————
12 times (12 chir s6)

A. 81

B. 90

C. 99

D. 108

E. None of the above (Pap an khac)

Question 12
How many five-digit whole numbers, divisible by 9, can be written using only the digits 3 and 6?

Chi dung cac chit s6 3 va 6, hoi co thé viét duwoc bao nhiéu so tw nhién cé nam chir so va chia hét

cho 9?7

A. 32
B. 16
C. 24
D. 10
E. None of the above (Pap an khac)
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Question 13

The first common term of the 2 sequences below is 54. What is the next common term of both

sequences?

S6 hang chung dau tién cia 2 day dwéi day la 54. Hoi s6 hang chung tiép theo ciia ca 2 day la

bao nhieu?
18,27,36,45, 54, ...
22,30,38,46, 54, ...

A. 72

B. 116

C. 126

D. 198

E. None of the above (Pap an khac)

Question 14

How many whole numbers smaller than 300 can be formed with the digits 2, 6, 1 or 3 if each of

the digits can only be used at most once in any number?

Cé the ldp dwoc bao nhiéu 6 t nhién nhé hon 300 tir cdc chik s6 2, 6, 1 hodc 3, biét rdng moi

chit s6 chi dwoc dimg mét lan trong mot sé bt ky?

A. 29
B. 28
C. 24
D. 12
E. None of the above (Pap an khac)
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Question 15

How many whole numbers can be expressed as a sum of three different numbers chosen from the
set below?
C6 bao nhiéu sé tw nhién cé thé dwoc biéu dién thanh téng ctia ba s6 khdc nhau dwoc chon tir tdp
hop duoi day?

{5,9,13,17,21, 25}

A. 10

B. 15

C.9

D. 6

E. None of the above (Pap an khac)
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Section B (Correct answer — 4 points| Incorrect or No answer — () points)
Phén B (Trd loi ditng — 4 diém | Trd 10i sai hodc khéong trd 1oi — 0 diém)

e When an answer is a 1-digit number, | @ Khi dép s0 1a s0 c6 1 chit s0, td s “0”

shade “0” for the tens, hundreds and
thousands place.

Example: if the answer is 7, then shade
0007

When an answer is a 2-digit number,
shade “0” for the hundreds and thousands
place.

Example: if the answer is 23, then shade
0023

When an answer is a 3-digit number,
shade “0” for the thousands place.
Example: if the answer is 785, then shade
0785

When an answer is a 4-digit number,
shade as it is.

Example: if the answer is 4196, then
shade 4196

cho céac chir s6 hang chyc, hang trim,
hang nghin.
Vi dy: Néu dap sé 1a 7 thi t6 0007.

o Khi dap s 14 s6 c6 2 chit s6, t6 s6 “0”
cho chir s6 hang trim va chir s6 hang
nghin.

Vi du: Néu dap sé la 23 thi t6 0023.

e Khi dap so6 1a s6 c6 3 chir s6, t6 s6 “0”
cho chir s6 hang nghin.

Vi du: Néu dap sé la 785 thi té 0785.

e Khidéap s6 14 s6 c6 4 chit sb, thi to dung
dap sb.
Vi dy: Néu dap s6 la 4196 thi t6 4196.

Question 16
How many triangles are there in the figure below?

Co bao nhiéu hinh tam giac trong hinh dudi day?
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Question 17

The graph below shows the number of books Mr Goh sold in the first 6 days of a week. All the
horizontal lines are equally spaced. The ratio of the number of books sold on Monday to the
number of books sold on Sunday is 2:5. If the average number of books sold during the whole

week was 252, how many books did Mr Goh sell on Sunday?

Biéu dé duwéi day cho thdy s6 sach 6ng Goh ban dwoc trong 6 ngdy dau tudn. Tat ca cdc dwong
nam ngang thi cach déu nhau. Ti s6 giita s6 sdch ban dwoe ciia ngdy thir Hai véi sé sdch béan
dwoc ciia ngay Chii nhdt la 2:5. Biét rang sé sdch trung binh ban dwoc trong cd tuan la 252

quyén, héi ngay Chii nhit éng Goh di ban dwoc bao nhiéu quyén sach?

Monday Tuesday Wednesday Thursday Friday Saturday
(Th{r Hai) (Thir Ba) (Thr Tw) (Thr Nam) (Thir Sau) (Thir Bay)

Number of books
S6 quyén sdch

Question 18

In the following cryptarithm, all the different letters stand for different digits. What is the value of
the 4-digit number ABCD?

Trong phép todn bén diedi, cdc chik cdi khdc nhau thay thé cho cdc chit s6 khdc nhau. Hoi gid tri

ciia 56 c6 4 chit s6 ABCD la bao nhiéu?

A B C D
X D
D C A A

10
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Question 19

A school library has a total of 124 Science and Maths textbooks. If g of the Science textbooks and

% of the Maths textbooks were loaned out, there will be 48 Science and Maths textbooks left. How

many Maths textbooks does the library have?

Thie vién cia truong cé tong cong 124 quyén sach Khoa hoc va sich Todn. Néu gsé sach Khoa
hoc va %sé sach Toan dwoc cho mwon, thi thu vién con lai 48 quyén sach Toan va Khoa hoc. Hoi
thue vién c6 bao nhiéu quyén sach Toan?

Question 20

Sam, Mark and Lucy went shopping. Sam spent g of the total sum. The rest of the money were
spent by Mark and Lucy in the ratio 8:7. If the total sum spent by Sam and Lucy was $475, find
the average sum of money spent by each child.

Sam, Mark va Lucy di mua sam. Sam da sir dung g t6ng sé tién. Sé tién con lai dwoc Mark va
Lucy sir dung theo ty 1é 8:7. Biét rang tong so tién ma Sam va Lucy da sit dung la 475 d6-la, tim
s6 tién trung binh ma moi ban da sir dung.

Question 21

Robots are used to assemble cars in a factory. Five robots assemble 29 cars in 9 minutes. If all
robots assemble cars at the same speed, how many cars can 23 robots assemble in 6 hours?
Robot dwoc sir dung dé ldp rdp 6 t6 trong nha mdy. Nam robot ldp rap 29 chiéc 6 6 trong 9 phiit.
Biét rang tat ca robot ldp rdp 6 t6 véi toc dé nhw nhau, héi trong 6 gio, 23 robot ldp rdp dwgc

bao nhiéu o t6?

11
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Question 22

Ninety students numbered from 1 to 90 were asked to line up in a straight line. The first student
in the line was asked to leave, the second student remained. The third student was asked to leave
the line, the fourth student remained and so forth. This process was then repeated until there was

only one student left in the line. What was the number of the only student left in the line?

Chin muoi hoc sinh dwoc danh sé tir 1 dén 90 dwoc yéu cau xé}? thanh mot hang thcfng. Hoc sinh
dau tién trong hang duwoc yéu cau roi di, hoc sinh thir hai & lai. Hoc sinh thir ba dwoc yéu cau roi
khoi hang, hoc sinh thir tu o lai va cir tié'p tuc nhu vay. Qua trinh nay sau do dwoc lap lai cho dén
khi chi con mét hoc sinh trong hang. Hoi sé thik tw ciia hoc sinh duy nhdt con lai trong hang la

bao nhiéu?
Question 23

The figure below is made up of 2 identical squares and a rectangle. The area of the square is 144
cm? and the area of the rectangle is 216 cm?. Points A, B, C and D are on the vertices of the
rectangle and squares as shown. If the breadth of the rectangle is 9 cm, find the area (in cm?) of

the shaded region ABCD.

Hinh duoi ddy dwoc tao thanh twr 2 hinh vuéng giéng nhau va mot hinh chir nhat. Dién tich hinh
vuong la 144 cm? va dién tich hinh chir nhdt la 216 cm?. Cac diém A, B, C va D nam trén cdc
dinh cia hinh chit nhdt va hinh vuéng nhw hinh vé. Biét rang chiéu rong ciia hinh chit nhdt la

9 cm, tim dién tich (don vi cm?) cua phdn duwoc to dam ABCD.

B

12
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Question 24

When Bernard was as old as Hector is now, Bernard’s age was 4 times Hector’s age then. When
Hector will be as old as Bernard is now, the sum of their ages will be 51. How old will Bernard

be when Hector turns 18 years old?

Khi Bernard bang tuéi Hector bdy gio, tuéi ciia Bernard gdp 4 lan tuéi Hector lic d6. Khi
Hector bang tuéi Bernard bdy gio, tong sé tudi ciia ho sé la 51. Hoi khi Hector 18 tudi, Bernard
sé bao nhiéu tuoi?

Question 25

A number is formed using the digits 1, 2, 3, 4 and 5. Any digit can be used more than once, but

adjacent digits cannot be the same. Once a pair of adjacent digits has occurred, that pair, in that

order, cannot be used again. How many digits are in the largest such number?

Mot $6 dwoc tao thanh bang cdch sit dung cdc chit s6 1, 2, 3, 4 va 5. Bdt ky chir s6 nao ciing ¢é
thé dwoe sir dung nhiéu lan, nhing cdc chir sé lién ké thi khéng dwoc giong nhau. Khi mét cdp
chiv 56 lién ké da xudt hién, thi cdp chit s6 do, xép theo thir tw d6, khéng thé dwoc sir dung lai.

Hoi so [on nhat nhw v@y co bao nhiéu chit s6?

END OF PAPER — HET
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Lép 5

Section A
Question Answer
1 B
2 A
3 D
4 E
5 B
6 B
7 C
8 B
9 A
10 A
11 D
12 D
13 C
14 B
15 A

PAP AN

Section B
Question Answer

16 17
17 630
18 1079
19 28
20 225
21 5336
22 64
23 180
24 27
25 21
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